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PAPER ‘A’ 

 

ANSWERS FOR MULTIPLE CHOICE QUESTIONS 
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(3) 
 

 

(  

 

       (i) 

 

Y0 Y1 Y2 Y3 Y4 Y5 

 

(40.0) 

  

(5.0) 

  

  

     5.0      12.0      23.0      25.5      16.0  

 

      (2.5)    (2.5)     (2.5) 

    

(2.5)    (2.5) 

 

-40 2.5 9.5 15.5 23 13.5 

 

1 0.893 0.797 0.712 0.636 0.567 

 

-40 2.2325 7.5715 11.036 14.628 7.6545 

      

3.1225 

 

 

(ii) (20%) 1 0.833 0.694 0.579 0.482 0.402 

 

DCF  -40 2.0825 6.593 8.9745 11.086 5.427 

 

NPV 

     

-5.837 

  

(iii)  

 12%  3.1225 

 20% -5.837 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(4) 
 

 
NPV 
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                      12             14                 16           18             20                                                % 

 

                                                14.78 

 

 

 

 

 

 

- 

5 

 

 

 

 

 

 

:              3.1225 - 0  =  3.1225 – (-5.837) 

                                         12 - x                 12 - 20 

 

                                       x = 2.78 + 12  

 

                                      IRR = 14.78%                                                            

 

 

 

 

 

 

 

 

-5.837 

3.112 



 

(5) 
 

 

 

 

(i)   = . 150m + .  150m 

= . 300m 

   = . 10m x 100 

     = . 1,000m 

  

 ( )  = .  1,300m 

   = .  13m   

(ii) 

.

2,000 

 

 1,800         

 

 1,600 

 

 1,400            

 

 1,200                         

 

 1,000         

        

   800       

 

   600 

 

   400 

   300             

   200 

 

        =  37.5km 
           

          0  10  20 30 40 50       60       70       80      90       100  

        
 

(iii)     

TR = TC 

 x=  

18x = 10x + 300 

  8x = 300 

    x = 300 

                         8 

   x = 37.5 km 



 

(6) 
 

 

(iv) 

 

10 20 30 40 50 60 70 80 90 100 

          300 300 300 300 300 300 300 300 300 300 

100 200 300 400 500 600 700 800 900 1,000 

400 500 600 700 800 900 1,000 1,100 1,200 1,300 

          180 360 540 720 900 1,080 1,260 1,440 1,620 1,800 

          

          

          

           

1,192 (i.e. 18 x 62 + 2 x 38) 

300 

620 

920 

 

  = 18 x 62 + 2 x 38   =   

 

  = 150 + 150 + 10 x 62 =  920  

 

   = 272  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(7) 
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3.44 53% 190.8
o
 

0.78 12% 43.2
o
 

0.59 9% 32.4
o
 

1.10 17% 61.2
o
 

0.59 9% 32.4
o
 

  6.5 100% 360
 o
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(c) 
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(9) 
 

 

(a)   H  1    = ∑ 1  

                 x1 
 

                                                                      H          n 

 

1 =  1 + 1 + 1 + 1 + 1  

H       2    4    6    8    10      5 

 

         =    4.38      

(b) 
      A=22.5       

 X f fx x
2
 fx

2
 d=x-A fd d

2
 fd

2
 u =x-A/c fu fu

2
 

0 ≤x <5.0 2.5 9 22.5 6.25 56.25 -20 -180 400 3600 -5 -45 225 

5≤x <10.0 7.5 19 142.5 56.25 1068.75 -15 -285 225 4275 -4 -76 304 

10.0 ≤x <15.0 12.5 37 462.5 156.25 5781.25 -10 -370 100 3700 -3 -111 333 

15.0 ≤x <20.0 17.5 13 227.5 306.25 3981.25 -5 -65 25 325 -2 -26 52 

20.0≤x <25.0 22.5 10 225 506.25 5062.5 0 0 0 0 -1 -10 10 

25.0 ≤x <30.0 27.5 6 165 756.25 4537.5 5 30 25 150 0 0 0 

30.0≤x <35.0 32.5 5 162.5 1056.25 5281.25 10 50 100 500 1 5 5 

35.0≤x <40.0 37.5 1 37.5 1406.25 1406.25 15 15 225 225 2 2 4 

  100 1445 4250 27175 -20 -805 1100 12775 -12 -261 933 

    = 14.45  14.45     14.45 

   SD  7.93  7.93     7.93 

                                         _ 

(i)  x   =  ∑fx   =  A  +  ∑fd       =   22.5 + -805 

                   ∑f                   ∑f                         100 

          

     =   14.45     

 

 = ∑fd
2
     ∑fd  

2
 

               ∑f          ∑f       

     

 

                 =   12,775      805 
2
 

                      100        100  

 

   = 7.93        

(ii) P (x < 15,000) = 65   =  65% 

                          100        



 

(10) 
 

 

 
 

 

(b) (i) 

 

 

 

 
 

 

 

 

 

 

              3,750  

          

        =  1,963 

       = 563 
       

      Z = 3,750 – 1,963 

               563 

       = 3.174 

     Area  0.4992   

   = (0.5 – 0.4992) = 0.08% 

 

 (ii) 

 

 

 

 

 

 

 

 
                                                       Z2    Z1 

    1500 = 1963                                   2500 

       =  563 

   Z1 = 2,500 – 1,963  = 0.954 

            563      

   Z2 = 1,500 – 1,963  = -0.822 

           563 

 Z1 = 0.3289 

    Z2 = 0.2939     
    

 Z1 + Z2  = 0.6228     

 

   = 62.28% 



 

(11) 
 

(iii) 

 

 

 

 

 

 

 

                                  3% 

 

 

 

 

   Z3     =  1963 

         =  563 

  Z3  =  0.47 

            , Z3 =  -1.88     

      

 Z3 =  x -  

        
     -1.88 = x – 1,963 

            563 

      

  x = -563 x 1.88 + 1,963 

      = Rs. 904.56   

  
  

 

 

 

 
 

 

   

 



 

(12) 
 

     

(iii) Ho  :   = 15    =  5  n = 100 

H1  :   = 15  x  =  17  

 

    = 0.05  

 

 

 

 

 

 

 

 

 
 

 

 

 

                                     - 1.96                                                                     + 1.96    

 

                                     _ 

Z1     =  x -    =  17 – 15 = 2   =    4    

                5           0.5 

                                       n                100          

 

  


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(13) 
 

 

(a) (i) T = 48.2 + 7.2t 

2011: Q1t = 1 

      2014: Q2t= 14 

 T2014 Q2  = 48.2 + 7.2 x 14 

  =  149.0  

      

(ii)       2013 Q1t = 9 

      2013 Q2t = 10 

T2013Q2 = 48.2 + 7.2 x 10 

=  48.2 + 72 

  =  120.2       

 

 T = Y 

   S 

 S = Y   =  125.3 

   T       120.2 

 

 Q2   =  1.04        

 

  

(iii)  T2014 Q2      =  149 

   = 1.03 

 

  Y = T x S 

      = 1.04 x 149 

      = 154.96 

      = Rs. 155 million    

 

(b)  (i)    =  
∑        
 
 

∑        
 
 

     
      

     
         

∑       

 

 

 (   )(   )  (   )(   )  (  )(   )  (  )(    )         

 

∑       

 

 

 (   )(   )  (   )(   )  (  )(   )  (  )(   )        

            

(ii)  

                                                     =  ( 2005  ) 
   

         
   

   
           

 = $ 1,200,000 - $ 1,134,000 = $ 66,000         

 

 



 

(14) 
 

 
(a) 

 

             

 

Y =                                                                                                                
Share  (XYZ) 

                                     

 
 

           

(b) 
 

         

          

          

          

          

          

          

          

          

          

          

          

          

      

 

   

          

          
 

(c ) x y xy x2 Y2 

   

 

4 12 48 16 144 

   

 

6 18 108 36 324 

   

 

5 15 75 25 225 

   

 

7 19 133 49 361 

   

 

8 19 152 64 361 

   

 

3 10 30 9 100 

   

 

5 16 80 25 256 

   

 

11 20 220 121 400 

   

 

49 129 846 345 2171 
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(15) 
 

             

              

 

 

 r =  n∑xy - ∑x∑y   

    

n∑x
2
 -  (∑x)

2
 (n∑y

2
 – (∑y)

2
) 

   

  

r =  8 x 846 – 49 x 129   

           

(8 x 345 – 49
2
)      (8 x 2171 – 129

2
) 

  

 

r = 0.87        

 

r
2
 = 0.756          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(16) 
 

“ ˜”

“ ˜” suggested 

solution

²

 

 

 

:         
 



 

(17) 
 

 

 

 


